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132::12

Ans X1 169 :
X 2 240
V3 182
X4 224

13
15
14
15

Q.1 Select the option in which the numbers share the same relationship as that shared by the given pair of numbers.

Question ID : 4244291140
Status : Answered
Chosen Option : 3

< 2 Viral

v 4 Liver

X 3. Toxin

Q.2 ‘Apemia’ is related to ‘Bloed’ in the same way as ‘Hepatitis® is related to *

Ans 1. Inflammation

Question ID : 4244291149
Status : Answered
Chosen Option : 4

letter-cluster.

RAMP : IZNK :: CEILING : ?

Ans X1 YWSPSNU
X 2. WUQNQLS
v 3 XVRORMT
X 4 XVTRPNL

Q.3  Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first

Question ID : 4244291148
Status : Answered
Chosen Option : 3

from the statements.
Statements:

All cars are mangoes
All buses are mangoes
Some apples are buses.

Conclusions:

I.  Some cars are buses.
II. Some mangoes are cars.

III. Some mangoes are apples.

Ans o 1. Only conclusions IT and III follow.
/< 2. Only conclusion I follows.
/< 3. Only conclusions I and III follow.
/< 4. Only conclusions I and II follow.

Q.4 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even

if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)

Question ID : 4244291154
Status : Answered
Chosen Option: 1
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Ans 1. AGTNMRE
< 2. AGMRTNE
X 3. RAGMTNE
v 4 RAGNTNE

Q.5 Ina certain code language, CLOTH is written as LCPHT. How will GARMENT be written as in that language?

Question ID : 4244291146
Status : Answered
Chosen Option : 4

(5,8.39)

Ans X1 (11, 14, 74)
X 2 (13, 16, 88)
/< 3 (6,8, 44)
v 4 (9,12, 63)

Q.6 select the option in which the numbers are related in the same way as are the numbers of the following set.

Question ID : 4244291142
Status : Answered
Chosen Option : 4

Ans X107
v 2 56
X 3 65
< 470

Q.7 If Rat is coded as 93 and Rabbit is coded as 25, then how will vou code Horse?

Question ID : 4244291147
Status : Answered
Chosen Option: 2

1. §I.UF. U o9
-

2

3. oo

4. TEY 71 o=

5. TA.E.3. g0

Ans X 1. 4-3-1-2-5
< 2 3-4-1-2-5
V' 4-3-2-1-5
< 4 3-4-2-1-5
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Question ID : 4244291145
Status : Answered
Chosen Option: 3
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Q.9 Acube of 3"x3"=3" inch size was painted on all six sides and then cut into 27 smaller cubes of linch size. How many

smaller cubes will have only two sides painted?

T
g
Ans x 1. 8
v 12
X3 6
X 4 10

Question ID : 4244291158
Status : Answered
Chosen Option : 2

Q.10

Two different positions of the same dice are shown. Select the number that will be on the face opposite to the

face having number 3°.
Ans X 1.3

X2 2
X3 6
v

Question ID : 4244291156
Status : Answered
Chosen Option : 4
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Q.11 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Ans

Question ID : 4244291160
Status : Answered
Chosen Option : 4

Q.12 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

GKM#3%NG24

< CKINE2UCTT
x> pEOVIEoVENAD

7o PTION%SHINDLD
v pEOV oV eRINAD

Ans

Question ID : 4244291162
Status : Answered
Chosen Option : 4
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Q.13 Select the letter-cluster that can replace the question mark (?) in the following series.
DFH, FHJ, ?, JLN, LNP
Ans K1 HIM
v 2 HIL
X 3 HIK
X 4 HKL

Question ID : 4244291151
Status : Answered
Chosen Option : 2

Q.14 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even

if it appears to be at variance with commonly known facts. decide which of the given conclusions logically follow(s)
from the statements.

Statements:

1. All bowls are plates.
2. No plate is a cup.

Conclusions:
1. Only some bowls are cups.
1I. No bowl is a cup.

Ans 1. Neither conclusion I nor II follows.
/< 2. Both conclusions I and II follow.

/< 3. Only conclusion I follows.
« 4 Only conclusion II follows.

Question ID : 4244291155
Status : Answered
Chosen Option : 4

Q.15 Which two numbers should be interchanged in the following equation to make it correct?
12X2+8-48+-6=20
Ans XK 1. 2and 6
V2 8and 12
3 12 and 48
X 4 6and 8

Question ID : 4244291139
Status : Answered
Chosen Option : 2
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Q.16 Select the option in which the given figure is embedded. (Rotation is not allowed)

e A

Ans

p 3

Question ID : 4244291159
Status : Answered
Chosen Option : 2

Q.17 Ina certain code language, a letter is coded by the letter at the same position but from the end of the English alphabet.
then how the word MANGO will be written in that code language?

Ans X 1. NMZLT
X 2 MNZLT
v 3. NZMTL
X 4 NMZTL

Question ID : 4244291152
Status : Answered
Chosen Option: 3

Q.18 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans o 1. ROLIF
< 2. UQNLK
X 3. TPMKIJ
X 4 WSPNM

Question ID : 4244291153
Status : Answered
Chosen Option: 1
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Q.19 There are 946 teachers and students in a school. If there is one teacher for every 42 students, then how many teachers
are there in the school?

Ans x 1. 23
X2 20
Vs 22
X 4 21

Question ID : 4244291138
Status : Answered
Chosen Option : 3

Q20 Select the option figure that will come next in the following series.

Am maDal||A]lm

Ans

v (| mA

<= Oal

< |04

X« MA]

Question ID : 4244291157
Status : Answered
Chosen Option: 1

Q.21 sSelect the letter-cluster that can replace the question mark (?) in the following series.
STRAIN : TRAIN :: STABIE : ?
Ans x 1. LABLE
& 2 ABLE
X 3. BALES
v 4 TABLE

Question ID : 4244291150
Status : Answered
Chosen Option : 4
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Q.22 gSelect the number that can replace the question mark (?) in the following series.

2, 10, 26, 50, 82, 7
Ans X 1. 120
X2 114
X 3 124
v 122

Question ID : 4244291143
Status : Answered
Chosen Option : 4

Q.23 The total of the ages of Ram, Shyam and Adil is 60 years. What was the total of their ages four years ago?

Ans X 1. 36 years
W 2. 48 years
/< 3. 50 years
/X 4. 46 years

Question ID : 4244291144
Status : Answered
Chosen Option: 2

Q.24 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

“

Ans

p

e

Question ID : 4244291161
Status : Answered
Chosen Option: 2
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Q.25 Which two numbers need to be interchanged to make the following equation correct?

8x(§)+9—5=10
Ans %15 3

K293

3 4,3

X4 8.4

Question ID : 4244291141
Status : Answered
Chosen Option : 3
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